What Is the World's Longest Punctuation Mark?

In Exercisesr‘l-»z, circle the ex
rectangle. Write its letter int

1.

Tor each sxercise, write the letter of the answer in the box containing the

exercise number.

¥ Y

S. 4{x + y)
K. 4x + 4y
T 4+

pression that does not represent the area of the outside
he corresponding numbered box.

(largest)

7

In Exercises 3-22, use the distributive property to compiete each statement.

i 8

o

10.

11.

12.

9a+b) = %a+ ____ N
n+7) = =21

A5 +q = ____ +2gq
ab+ 8) = ab +

Xx+23) = ____ + 5x

18(y + 3) = 16y +

e(s +1 = es+
Np+q+4) = Tp+7g+ __
alb+c+ 11) = ___ +ac+ lla
k@+3+k) = 8k+3k+

/r‘mawcrs for 3-12:

i u. 48 0. 3n
E. 9b D. 28
1x 86 H. x
E. Ba R.

b

= ' Ho ab + 7

a R. ab+7)

A. ab + 7a

18, Tx4 T = T4+ )
14.3m +3n = 3(____ + n)
15. 8a + 8b = {a + B
16. ax + ay = (x + y)
17.nt+4n = n(t+ ___ )
18. 2d + 12 = 2(___ + §)
19. 5¢ + 35 = 5(e+
20, X%+ 9x = x{___ + 9
21. 4p + 4g + 80 = 4p+g+__ )
22. kw + wy + w? = wik -~ y+_ )

(Answers for 13-22:
M. B
M. m R.d
L. 15 E
E. 4 S
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id You Hear Bodf;.. |

D

DIRECTIONS: Simplify any expression below. Find your
answer in one of the answer columns and notice the word mext

to it. Write the ward in the box above that has the same letter
as that exercise.

T7x + 12 ASKING

® sx ~ 7(2 - ax) ®ax-73-3) -9 25 — 30 FOOTBALL
x —18 COULD
® 8 — 3(6 — 6x) @*8+6('x—-3) + 4x _ 33x - 14 THE
. - 442 + 16 AS
. 15x + 28. HIS
+ 5 ~ - 3(78 — 4a
© ga - 4(2a + 5) ©@-2a + 7 - 3( ) e ——
250 — 88 SO
© -3 -85 — 1) ® -1+ 5a - 92 + 5a) 442 - 13 FUMBLE
40a + 37 BALL
® -7n + 4(6 + 3n) @o9@n —9) -7 -2n 5n - 24 WHO
' ~48n — 16 FLOOD
5 | d40a +5 PLAYER
® -8(2n - 4)+5 ®-45+n)+n <6 ul
~48n — 88 UNDER
© 2x + 6) - 9 © -Bx — 2("5x + 9) — K la —24 HIKE
a—20 FOOTBALL
@ -5(7 -3 -7 @5 -8(1-x) - X ~7a + 24 COACH
n +12 A
o - ~402 + 17 WATER
@ 4(-2a +6) +a - © -a +7 +5(-4 + 7a) k.
=121 + 35 THE
Ea
@ 4a - 93 — 3) ©-sr6a -3 -2+ 8a L 18x — 10 ROOKIE
{108 + 3¢ WITH
® -8 - 860 + 1) @4ﬂ”—5n+3(n + 4) I-x -3 GO
~t8n + 37 KEPT
L 342 - 13
©v5(—? +.n) —-7n ®7+9\—2n+9)+‘] : i Saa IN
A 8n -+ 86 SUB
I=2x — 26 FIELD




